Question Paper Name :
Subject Name :
Creation Date :
Duration :

Number of Questions :
Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

National Testing Agency

Database and Content Organisation 29th Sep 2020 Shift 2
Database and Content Organisation

2020-09-29 18:34:34

180

100

100

Yes

Database and Content Organisation

1
899514164
0

120

No

No

0

100

No

Database and Content Organisation

899514229
1

Online
Mandatory
100

100



Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 899514273
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 89951413754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The functional components of a database system can be divided into
[1].Storage Manager
[2]. Query Processor
[3].Both 1 and 2
[4] None of the above
Options :
89951453579. 1
89951453580. 2
89951453581. 3
89951453582. 4

Question Number : 2 Question Id : 89951413755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The component(s) of Storage Manager 1s/are
[1]. Authorization and Integrity Manager
[2]. Transaction Manager and File Manager
[3]. Buffer Manager
[4].All of the above
Options :
89951453583. 1
89951453584. 2
89951453585. 3
89951453586. 4

Question Number : 3 Question Id : 89951413756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The component that tests for the satisfaction of integrity constraints and checks the
authority of users to access data 1s
[1]. Authorization and Integration Manager
[2]. Transaction Manager
[3].File Manager
[4]. Buffer Manager

Options :

89951453587. 1

89951453588. 2

89951453589. 3

89951453590. 4

Question Number : 4 Question Id : 89951413757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

DDL Interpreter, DML Compiler and Query Evaluation Engine are the components of
[1] File Manager

[2]. Query Processor

[3]. Transaction Manager

[4]. None

Options :

89951453591. 1

89951453592. 2

89951453593. 3

89951453594. 4

Question Number : 5 Question Id : 89951413758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The data structures those are implemented by the Storage Manager are

[1].Data files

[2]. Data Dictionary

[3] Indices

[4].All of the above



Options :

89951453595. 1
89951453596. 2
89951453597. 3
89951453598. 4

Question Number : 6 Question Id : 89951413759 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The database that contains the original source data or full text of original source material
is called as

[1].Eeference Database

[2] Multimedia Database

[3].Source Database

[4].Bibliographic databases

Options :

89951453599. 1

89951453600. 2

89951453601. 3

89951453602. 4

Question Number : 7 Question Id : 89951413760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The databases that consist of records with basic decriptive information about the items
(books. Journals. Theses) are called as
[1].Numeric database
[2].Software database
[3].Full-text database
[4].Bibliographic database
Options :
89951453603. 1

89951453604. 2
89951453605. 3



89951453606. 4

Question Number : 8 Question Id : 89951413761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ER Model was developed by
[1].Chung

[2].Chen

[3].Che1

[4]. Choung

Options :

89951453607. 1

89951453608. 2

89951453609. 3

89951453610. 4

Question Number : 9 Question Id : 89951413762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The characteristic of an entity 1s called as
[1].Value
2].Fecord
[3].Data Element
[4]. Attribute
Options :
89951453611. 1
89951453612.2
89951453613. 3
89951453614. 4

Question Number : 10 Question Id : 89951413763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Emplovee, Student, Programmes_ Courses etc_, are the examples of
[1]. Cardinality

[2] Relationships

[3] Entities

[4]. Attributes

Options :

89951453615. 1
89951453616. 2
89951453617. 3
89951453618. 4

Question Number : 11 Question Id : 89951413764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
My SQL supports a number of SQL data types like
[1]. Numeric
[2]. Date and Time
[3] String
[4]. All of the above
Options :
89951453619. 1
89951453620. 2
89951453621. 3
89951453622. 4

Question Number : 12 Question Id : 89951413765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
INTEGEE. SMALLINT, DECIMAIL, NUMERIC comes under
data type.
[1]. String

2]. Enum
[3]. Exact Numeric
[4]. Character

Options :



89951453623. 1
89951453624. 2
89951453625. 3
89951453626. 4

Question Number : 13 Question Id : 89951413766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
type 1s used for values that contain both date and time parts.
[1].DATE
[2]. DATETIME
[3] TIMESTAMP
[4] None
Options :
89951453627. 1
89951453628. 2
89951453629. 3
89951453630. 4

Question Number : 14 Question Id : 89951413767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

a SPARQL 1 Web protocol
b RDF ii Identifier

c URI iii Data model

d HTTP v Query language

[1]l.a—iii;b—1iiic—1i:d- iv
[2l.a—1ii;b—i;ec—iv;d-ii

[3la—-ii;b—ivie—i;d-ii1
[4]l.a—iv:b—iii;e—1;d-1
Options :
89951453631. 1
89951453632. 2

89951453633. 3
89951453634. 4

Question Number : 15 Question Id : 89951413768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is VIAF?
[1]. LOD of name authority data

[2] LOD of subject authority data

[3].LOD of name and subject authority data
[4]. None of these

Options :

89951453635. 1
89951453636. 2
89951453637.3
89951453638. 4

Question Number : 16 Question Id : 89951413769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What iz SPARQL?
[1].System Protocol and RDF Query Language

[2].SPARQL Protocol and Remote Query Language
[3]. SPARQL Protocol and RDF Query Language

[4]. SPARQL Protocol and RDF Query Layout

Options :

89951453639. 1
89951453640. 2
89951453641. 3



89951453642. 4

Question Number : 17 Question Id : 89951413770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:

a VIAF i ANSI/NISO

b RDF ii  Library of Congress
¢ LCNAF i W3C

d Z3950 iv. OCLC

[1lla—i;b—1ii; c—iii;d - iv
[2].a—ii;b—idii;e—iv;d-1i

[3]la—1ii;b—1i;c—1iv:d-ii
[4la—iv:b—iii;c—1i;d—1
Options :
89951453643. 1
89951453644. 2

89951453645. 3
89951453646. 4

Question Number : 18 Question Id : 89951413771 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is FALSE statement for LOD?

[1]. Applies URIs as names for things
[2] Uses HTTP URIs to up those names
[3]. Applies RDF and SPAQL as data model and query language respectively

[4].LOD is meant for libraries

Options :

89951453647. 1
89951453648. 2
89951453649. 3
89951453650. 4

Question Number : 19 Question Id : 89951413772 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

a Kohazon i  Biographies in Wiki platform

b LibraryLookUp ii  Google maps integration with happy hours finder
¢ Unthirsty i Google maps integration with Library discovery
d WikiBios iv  Amazon integration with Koha

[1la—1i;b—1ii;c—1i;d—1iv
[2].a—iii;b—1i;e—iv;d—ii

[3]la—i:b—ivic—1;d—1iil
[4]la—iv:b—iii;c—1i;d—1

Options :

89951453651. 1
89951453652. 2
89951453653. 3
89951453654. 4

Question Number : 20 Question Id : 89951413773 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is widget?

[1] A script combining HTML and Java to access a web service
[2]. A gateway to scholarly resources

[3]. A technique to access web services for differently-abled persons

[4] None of these

Options :

89951453655. 1
89951453656. 2
89951453657. 3
89951453658. 4

Question Number : 21 Question Id : 89951413774 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arrange as per the difficulty level (simple to complex)

[1]. Data mashup — Presentation mashup — Process mashup
[2] Presentation mashup -Data mashup — Process mashup
[3] Data mashup — Process mashup - Presentation mashup
[4].Process mashup - Data mashup — Presentation mashup

Options :

89951453659. 1

89951453660. 2

89951453661. 3
89951453662. 4



Question Number : 22 Question Id : 89951413775 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:

a RSS i Data mashup

b Widget ii  Presentation mashup
¢ OATPMH iii  Process mashup

d Programmable Web iv  Mashp directory

[1]l.a—i;b—ii;c—iii;d—iv
[2l.a—ii;b—iii;c—iv;d -1

[3la—-iii;b—i;c—iv;d—ii
[4]l.a—iv:b—iii;c—1;d—1

Options :

89951453663. 1
89951453664. 2
89951453665. 3
89951453666. 4

Question Number : 23 Question Id : 89951413776 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Information mashup is:
[1] Remixing of data
[2] Regeneration of data
[3]. Reproduction of data

[4] . None of these

Options :

89951453667. 1
89951453668. 2
89951453669. 3
89951453670. 4

Question Number : 24 Question Id : 89951413777 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is true?
[1] Unicodeis a 2-Byte code

[2] ASCT is a 1-Byte code

[3].ISCTI is a 2-Byte code
[4]. EBCDIC is a 1-Byte code

Options :

89951453671. 1
89951453672. 2
89951453673.3
89951453674. 4

Question Number : 25 Question Id : 89951413778 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Match the following:

a Brambhi i Indo-European language
b Oriya ii  Script for Maithili

¢ Malayalam iii  Origin of all Indic scripts
d Devnagri iv. Dravidian language

[1].a—i;b—ii;c—iii;d—iv
[2la—1i;b—iii;e—ii;d—1

[3]la—iii;b—i;c—iv;d—ii

[4]la—iv:b—iii;c—1i;d—1

Options :

89951453675. 1
89951453676. 2
89951453677. 3
89951453678. 4

Question Number : 26 Question Id : 89951413779 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is true for UTF-8?

[1].1t represents all character in 8-bit
[2].1t represents Roman script in 8-bit and non-Roman scripts in 16-bits
[3].1t represents Roman seript in 16-bit and non-Roman scripts in 16-bits

[4].1t represents Roman script in 16-bit and non-Roman scripts in 32-bits

Options :

89951453679. 1
89951453680. 2
89951453681. 3
89951453682. 4

Question Number : 27 Question Id : 89951413780 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Rendering engine in multi-script retrieval system supports:

[1].each font’s glyph substitution tables to contextually render the characters
[2].each font’s character substitution tables to contextually render the glyph
[3].Both A and B
[4] None of these

Options :

89951453683. 1

89951453684. 2
89951453685. 3



89951453686. 4

Question Number : 28 Question Id : 89951413781 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Unicode codespace for Indian scripts (given below) is based on:

[1].1988 version of ISCII encoding
[2].1985 version of ISCII encoding

[3].1991 version of ISCII encoding
[4].2010 version of ISCII encoding

Options :

89951453687. 1
89951453688. 2
89951453689. 3
89951453690. 4

Question Number : 29 Question Id : 89951413782 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

Tool Associated software

a Solr i DSpace (Higher versions)
b Zebra ii  DSpace (Lower versions)
¢ MGPP iii Koha

d Lucene iv  Greenstone

[1]l.a—iii;b—di;c—1i;d—iv
[2]l.a—iii;b—1;c—iv;d—1ii

[3]l.a—i;b—1ii;c—iv;d-ii

[4]la—iv;b—1ii;c—1i;d -1

Options :

89951453691. 1
89951453692. 2
89951453693. 3
89951453694. 4

Question Number : 30 Question Id : 89951413783 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is Apache-Tika?
[1] Digital library software

[2] Library automation software

[3].Text retrieval engine
[4].Full-text extractor
Options :
89951453695. 1
89951453696. 2

89951453697. 3
89951453698. 4

Question Number : 31 Question Id : 89951413784 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Who one of the following is the developer of MGPP?
[1].University of Waikato, New Zealand
[2]. MIT, US
[3] INFLIBNET, India

[4] None of these

Options :

89951453699. 1
89951453700. 2
89951453701. 3
89951453702. 4



Question Number : 32 Question Id : 89951413785 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:
a Boolean search i AND
b Fuzzy search ii  Spelling corrections in search query

¢ Proximity search 1ii NEAR, ADJ

d Truncated search iv * 9% §

[1]l.a—1i;b—ii;c—iii;d - iv
[2l.a—ii;b—iii;c—iv;d -1

[3]l.a—iii;b—i;c—iv;d-ii
[4la—iv;b—1ii;c—11;d -1

Options :

89951453703. 1
89951453704. 2
89951453705. 3
89951453706. 4

Question Number : 33 Question Id : 89951413786 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following retrieval engine supports Soundex search?
[1].Lucene
[2].Solr
[3] MGPP

[4] Zebra

Options :

89951453707. 1
89951453708. 2
89951453709. 3
89951453710. 4

Question Number : 34 Question Id : 89951413787 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

OA resources Organizations

a OCW 1 IGNOU

b E-Gyankosh ii INFLIBNET

¢ BASE fi MIT, US

d Shodhganga iv  Bielefeld University

[1]l.a—1ii;b—1ii;c—1;d- iv
[2].a—iii;b—i;e—iv;d-ii

[3la-ii;b—ivie—i;d-i11

[4]l.a—ivib—iii;c—ii;d-1

Options :

89951453711. 1
89951453712. 2
89951453713.3
89951453714. 4

Question Number : 35 Question Id : 89951413788 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is ROAR?

[1].Chemical information services
[2] Engineering database

[3].Legal information service

[4]. None of these

Options :

89951453715. 1
89951453716. 2
89951453717.3
89951453718. 4

Question Number : 36 Question Id : 89951413789 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is LII?
[1] Subject directory

[2].Search engine

[3] Meta search engine
[4] None of these

Options :

89951453719. 1
89951453720. 2
89951453721.3
89951453722. 4



Question Number : 37 Question Id : 89951413790 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:

Service Area(s)

a DOAJ I Theses

b OpenDOAR ii  Journals

c DOAB iii  Pre-prints and Post-prints
d OATD iv.  Books

[1l.a—i;b—1i; c—iii;d - iv
[2la—ii;b—iii;c—iv;d -1

[3]la—iii;b—i;c—iv;d-ii
[4la—iv:b—iii;c—1;d—1

Options :

89951453723. 1
89951453724.2
89951453725. 3
89951453726. 4

Question Number : 38 Question Id : 89951413791 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is a not an Open Access resource?
[1].Bing
[2].0penDOAR
[3].BASE
[4] PLoS portal

Options :

89951453727. 1
89951453728. 2
89951453729. 3
89951453730. 4

Question Number : 39 Question Id : 89951413792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a gateway to resources on Social Science?

[1].BASE
[2].8SRN

[3] Medline
[4]. DOAJ

Options :

89951453731. 1
89951453732.2
89951453733. 3
89951453734. 4

Question Number : 40 Question Id : 89951413793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Match the following:

a MARC i Boolean serach operator

b XML ii A kind of search technique
¢ Fuzzy iii ~ Web document format

d AND iv  Bibliographic data format

[1]a—i;b—ii; c—iii;d - iv
[2la—1i;b—iii;c—1i;d-1

[3la-i;b—ic—ii;d-iv
[4]l.a—iv;b—iii;ec—ii; d -1

Options :

89951453735. 1
89951453736.2
89951453737. 3
89951453738. 4

Question Number : 41 Question Id : 89951413794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is a cross-publisher database service?

[1].ScienceDirect
[2] EmerldInsight
[3] Taylor & Francis Online

[4] Web of Science

Options :

89951453739. 1
89951453740. 2
89951453741. 3
89951453742. 4

Question Number : 42 Question Id : 89951413795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is CCC?

[1].Current contents of journals
[2].Current contents of patents
[3].Current contents of theses
[4].Current contents of standards
Options :
89951453743. 1

89951453744. 2
89951453745. 3



89951453746. 4

Question Number : 43 Question Id : 89951413796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is EDOC?

[1]. Database of journals
[2]. Database of patents
[3].Database of theses
[4].Database of standards

Options :

89951453747. 1

89951453748. 2

89951453749. 3
89951453750. 4

Question Number : 44 Question Id : 89951413797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

Related to:
a WEBLIS i Running WINISIS over WAN and Internet/Intranet
b ISISASCII ii  Publishing WINSISIS data over the Web
¢ GENISIS i1 Coverting ASCII delimited to ISIS database
d JavalISIS iv. A CDS/ISIS and WWWISIS based ILS

[1la—1i;b—ii;c—1;d-1v
[2].a—1ii;b—1;e—iv;d-1i

[3]la—iv:b—idii;c—i;d-ii

[4la-iv;b—iiiic—ii;d-i

Options :

89951453751. 1
89951453752. 2
89951453753.3
89951453754. 4

Question Number : 45 Question Id : 89951413798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In WINISIS, FST entries are responsible for

[1].Data structuing
[2] Indexing
[3]. Data editing

[4] Data exporting

Options :

89951453755. 1
89951453756. 2
89951453757. 3
89951453758. 4

Question Number : 46 Question Id : 89951413799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In WINISIS. MSTRVC?2 toolhelpsin
[1]. Compacting database
[2] Exporting data
[3] Rebuilding Cross Reference file
[4] Importing data

Options :

89951453759. 1
89951453760. 2
89951453761. 3
89951453762. 4



Question Number : 47 Question Id : 89951413800 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In WINISIS. RDB utility allows

[1].Data exchange between Relational DBMS and ISO 2709
[2] Data exchange between ISO 2709 and XML
[3].Data exchange between ISO 2709 and HTML

[4] Data exchange between ISO 2709 and ISO 2788

Options :

89951453763. 1
89951453764.2
89951453765. 3
89951453766. 4

Question Number : 48 Question Id : 89951413801 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WINISIS canrunin a network (multiuser) environment in
[1]. Three ways
[2] Two ways
[3].Only one way
[4] Four ways
Options :
89951453767. 1
89951453768. 2

89951453769. 3
89951453770. 4



Question Number : 49 Question Id : 89951413802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The UNESCO developed mstrcv].exe program to help
[1] Rearranging a database

[2] Recovering a corrupted database
[3]. Compacting a corrupted database

[4] Compacting a regular database

Options :

89951453771. 1
89951453772. 2
89951453773. 3
89951453774. 4

Question Number : 50 Question Id : 89951413803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Database Unlocking utility is helpful when running WINISIS in

[1] Multilingual environment

[2] Multi-configuration environment
[3]. Multiuser environment
]

[4] Multi-database environment

Options :

89951453775. 1
89951453776. 2
89951453777. 3



89951453778. 4

Question Number : 51 Question Id : 89951413804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WINISIS XML utility
[1].Can create DTD from FDT

[2].Can create FDT from DTD
[3].Can create RDF graph from FDT

[4].Can create RDF-XML format from FDT

Options :

89951453779. 1
89951453780. 2
89951453781. 3
89951453782. 4

Question Number : 52 Question Id : 89951413805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By default, WINISIS canhandle
[1] Four keys (Fields) in sorting

[2]. Three keys (Fields) in sorting
[3] Two keys (Fields) in sorting

[4].One key (Fields) in sorting



Options :

89951453783. 1
89951453784.2
89951453785. 3
89951453786. 4

Question Number : 53 Question Id : 89951413806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In WINISIS, default measurement unitof margins and page size is in

[1].millimeter
[2].centimeter
[3].inch

[4] meter

Options :

89951453787. 1
89951453788. 2
89951453789. 3
89951453790. 4

Question Number : 54 Question Id : 89951413807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

Related to:
a Term matching 1 Syspar par file value
b Similarity matching ii  Term dictionary in winisis
¢ Inverted file iii Vector space model
d 130=0 v Boolean logic model

[1].a—iii;b—1ii;c—1;d - iv
[2la—1i;b—1;c—iv;d-1i

[3]la—1i;b—ii;c—iii;d - iv

[4la—iv:b—1dli;c—ii;d-1

Options :

89951453791. 1
89951453792. 2
89951453793. 3
89951453794. 4

Question Number : 55 Question Id : 89951413808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following statements is TRUE?

[1].Search language of CDS/ISIS is based on Boolean algebra

[2].Search language of CDS/ISIS is based on Vector Space model

[3].Search language of CDS/ISIS is based on Similarity matching

[4] Search language of CDS/ISIS is based on Probability model

Options :

89951453795. 1
89951453796. 2
89951453797. 3
89951453798. 4

Question Number : 56 Question Id : 89951413809 Question Type
Correct Marks : 1 Wrong Marks : 0

In Guided search in WINISIS:
[1] You can enter up to three search elements
[2]. You can enter up to five search elements
[3]. You can enter up to four search elements

[4]. You can enter up any number of search elements

Options :

89951453799. 1
89951453800. 2
89951453801. 3
89951453802. 4

: MCQ Option Shuffling : No Is Question Mandatory : No



Question Number : 57 Question Id : 89951413810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the right syntax in WINISIS expert search?

[1].“(LIONS OR TIGERS) AND (KENYA OR UGANDA)”
[2].(LIONS OR TIGERS) AND (KENYA OR UGANDA)
[3].%(LIONS OR TIGERS)” AND “(KENYA OR UGANDA)"
[4].LIONS OR TIGERS AND KENYA OR UGANDA

Options :

89951453803. 1
89951453804. 2
89951453805. 3
89951453806. 4

Question Number : 58 Question Id : 89951413811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If user want to retrieve documents with exactly one word between water and soil
what would be the right search syntax in WINISIS expert search?

[1].Water § § Soil
[2].Water . . Soil

[3]. Water $ . Soil
[4]. Water . § Soil

Options :

89951453807. 1
89951453808. 2
89951453809. 3
89951453810. 4



Question Number : 59 Question Id : 89951413812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The default extension for exported data file in WINISIS is:
[1]..is0

[2]. mst
[3].exp

[4]. .imp

Options :

89951453811. 1
89951453812.2
89951453813. 3
89951453814. 4

Question Number : 60 Question Id : 89951413813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To delete a field from WINISIS, youneed to press:
[1].E2

Options :

89951453815. 1
89951453816.2
89951453817. 3
89951453818. 4



Question Number : 61 Question Id : 89951413814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The statement - “[f the field has not been defined as repeatable in the Field Definition
Table, you cannot add multiple occurrences in data entry™ - is:

[1]. TRUE
[2]. FALSE
[3]. TRUE but depends on conditions

[4]. FALSE but depends on conditions

Options :

89951453819. 1
89951453820. 2
89951453821. 3
89951453822. 4

Question Number : 62 Question Id : 89951413815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



If you want to get rid of the deleted record altogether and 'close up' the gap in Master File
Numbers, the only way is:

[1]. Export the whole database (which will exclude deleted records) and then Import it
again

[2] Import the whole database (which will exclude deleted records) and then Export it
again

[3] Export the whole database (which will exclude deleted records) and then Import it
in a separate database

[4] Import the whole database (which will exclude deleted records) and then Export it
in a separate database

Options :

89951453823. 1
89951453824. 2
89951453825. 3
89951453826. 4

Question Number : 63 Question Id : 89951413816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In WINISIS, the default output line length during export is:
[1].80

Options :



89951453827. 1
89951453828. 2
89951453829. 3
89951453830. 4

Question Number : 64 Question Id : 89951413817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:
Indexing techniques Related to:

a Indexingtechniquel 1  eachword in the field will be indexed separately

b Indexing technique2 1i indexes terms entered between slashes

¢ Indexingtechnique 3 iii index only words or phrases encosed between angle brackets

d Indexingtechnique4 iv means index each subfield separately

[1]la—1i:b—ii;c—1;d-iv

[2]a—iii;b—1;c—iv;d-ii

[3]
]

[4]l.a—iv;b—iii;c—1i;d -1

a—-i;b—ii;c—iv;d-iii
Options :

89951453831. 1

89951453832. 2

89951453833. 3
89951453834. 4

Question Number : 65 Question Id : 89951413818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The FST entry 24 8 '/TI=" v24 will

[1].index each word of field 24 and prefix each term with TI=
[2].index each word of field 24 and suffix each term with TI=
[3].index phrases enclosed within <= of field 24 and prefix each term with TI=

[4].index phrases enclosed within <= of field 24 and suffix each term with TI=

Options :

89951453835. 1
89951453836. 2
89951453837. 3
89951453838. 4

Question Number : 66 Question Id : 89951413819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct?
[1]. The stopword file may have any name as the database and the file extension stw
[2]. The stopword file must have the same name as the database and the file extension stw
[3] The stopword file must have the same name as the database and any file extension

[4]. The stopword file must have the same name as the database and the file extension mst

Options :

89951453839. 1
89951453840. 2
89951453841.3
89951453842. 4

Question Number : 67 Question Id : 89951413820 Question Type : MCQ Option Shuffling : No Is Question Mandatory
Correct Marks : 1 Wrong Marks : 0

No

: No



Match the following:

file extension
a database i pft
b Cross referenece i stw
¢ stopword i xef
d Display format iv  mst

[1]a—i;b—ii; c—iii;d - iv
[2la—1i;:b—iv;c—ii;d-1il

[3]la—iii;b—i;c—iv;d-ii

[4la—ii;b—1c—1iv;d—iil

Options :

89951453843. 1
89951453844. 2
89951453845. 3
89951453846. 4

Question Number : 68 Question Id : 89951413821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following statements is the right one?

[1]. CDS/ISIS allows only free-text searching

[2] CDS/ISIS allows only inverted file based searching

[3].CDS/ISIS allows both free-text searching and inverted file based
searching

[4].CDS/ISIS allows elastic search

Options :

89951453847. 1
89951453848. 2
89951453849. 3
89951453850. 4

Question Number : 69 Question Id : 89951413822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:
Related to:

a VAL function i returns the maximum value of one or more numerical values
b RSUM function ii  returns the minimum value of one or more numerical values
¢ RMAX function iii  returns the sum of one or more numerical values
d RMIN function iv  returns the numerical value of its argument.

[1].a—iii;b—ii;c—1;d - iv

[2]la—iii;b—1i;c—iv;d-1ii

[3]la—iv:b—iii;c—1i;d-1ii

]-a

[4]la—iv:b—idii;c—ii;d -1



Options :

89951453851. 1
89951453852. 2
89951453853.3
89951453854. 4

Question Number : 70 Question Id : 89951413823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

'Author: 'v10/'Title: 'v20 will display data as:

[1] Author: Singer, Hans / Title: A more human way forward

[2] Author: Singer, Hans
Title: A more human way forward

[3] Singer. Hans / A more human way forward

[4] Singer Hans
A more human way forward

Options :

89951453855. 1
89951453856.2
89951453857. 3
89951453858. 4

Question Number : 71 Question Id : 89951413824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is the right statement:

[1] If arepeatable prefix-literal is immediately followed by a “+” sign (e.g. [xxx[+ ) it will
be output before all but the first occurrence of the field.

[2] If arepeatable prefix-literal is immediately followed by a “+” sign (e.g. [xxx[+ ) it will
be output after all but the last occurrence of the field.

[3] If arepeatable prefix-literal is immediately followed by a “+” sign (e.g. [xxx[+ ) it will
be output before all including the first occurrence of the field.

[4] If arepeatable prefix-literal is immediately followed by a “+” sign (e.g. [xxx[+ ) it will
be output after all including the last occurrence of the field.

Options :

89951453859. 1
89951453860. 2
89951453861. 3
89951453862. 4

Question Number : 72 Question Id : 89951413825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is the right one?

[1] If a repeatable suffix-literal is immediately preceded by a “+” sign (e.g. +[xxx|) it
will be output before all but the first occurrence ofthe field.

[2] If a repeatable suffix-literal is immediately preceded by a “+” sign (e.g. +[xxx|) it
will be output before all including the first occurrence of the field.

[3] If arepeatable suffix-literal is immediately preceded by a “+” sign (e.g. +[xxx|) it
will be output after all including the last occurrence of the field.
[4] If a repeatable suffix-literal is immediately preceded by a “+” sign (e.g. +[xxx|) it

will be output after all but the last occurrence of the field.

Options :
89951453863. 1



89951453864. 2
89951453865. 3
89951453866. 4

Question Number : 73 Question Id : 89951413826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In WINISIS fs30 will display content in
[1].15-point size
[2].30-point size
[3].3-pointsize
[4].18-point size

Options :

89951453867. 1
89951453868. 2
89951453869. 3
89951453870. 4

Question Number : 74 Question Id : 89951413827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following format will help to display an MFN without any leading zeros?
[1] f(mfn,0)

[2] f(mfn.0.0)
[3] fimfn.0.,0.0)

[4] f(mfn)

Options :
89951453871. 1
89951453872. 2



89951453873. 3
89951453874. 4

Question Number : 75 Question Id : 89951413828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There are three modes available in WINISIS namely:

[1].Proof mode; Leader mode; and Data mode
[2].Grid mode; Header mode; and Data mode
[3].Proof mode; Header mode; and Data mode
[4].Proof mode; Header mode; and Database mode

Options :

89951453875. 1

89951453876. 2

89951453877. 3
89951453878. 4

Question Number : 76 Question Id : 89951413829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Header mode:
[1].”a is converted to a semicolon and space
[2].7a is converted to a semicolon
[3].7a is converted to a colon and space
1.

[4].7a is converted to a semicolon and hash

Options :

89951453879. 1
89951453880. 2
89951453881. 3
89951453882. 4



Question Number : 77 Question Id : 89951413830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement the is correct one?
[1].The indentation command is coded (f.¢) or (c)
[2].The indentation command is coded (f.¢) or (f)

[3].The indentation command is coded (f.d) or (f)

[4].The indentation command is coded (c.f) or (c)

Options :

89951453883. 1
89951453884. 2
89951453885. 3
89951453886. 4

Question Number : 78 Question Id : 89951413831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is the correct one?

[1] A twip is a twentieth of a point and a pointis 1/72 of an inch.
[2] A twip is a twentieth of a point and a pointis 1/720 of an inch.
[3].A twip is a twentieth of a point and a pointis 1/172 of an inch.

[4]. A twip is a twentieth of a point and a pointis 1/7 of an inch.

Options :
89951453887. 1
89951453888. 2



89951453889. 3
89951453890. 4

Question Number : 79 Question Id : 89951413832 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:

Pick-list command Related to:

a add i  usersmay pick more than one item from the list

b files ii  prevents the user from entering data values

¢ notype iii  each line will be considered as a file name

d multi iv  new selected items' text will be added to the text already in the field

[1]l.a—iii;b—1ii;c—1i;d-iv

[2l.a—1ii;b—1;c—iv;d-ii

[3]la—-i;b—1i;c—iv;d-iii
1.

[4]l.a—iv:b—iii;c—1;d-1

Options :

89951453891. 1
89951453892. 2
89951453893.3
89951453894. 4

Question Number : 80 Question Id : 89951413833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is firstdescribe in pick-list?

[1].The first is what will be really inserted in the field. The second is what the

user sees on the list

[2]. The first is what the user sees on the list. The second is what it qualifies the

first one.

[3]. The first is what the user sees on the list. The second is what it will be really

inserted in the field

[4]. Both the first and the second will be really inserted in the field

Options :

89951453895. 1
89951453896. 2
89951453897. 3
89951453898. 4

Question Number : 81 Question Id : 89951413834 Question Type
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true for pick-list?
[1].Helps in bibliographic data entry standardization
[2] Helps in reducing time and labour of cataloguer
[3].Helps to support standard coded values
[4] Helps to support database administration

Options :

89951453899. 1
89951453900. 2
89951453901. 3
89951453902. 4

: MCQ Option Shuffling : No Is Question Mandatory : No



Question Number : 82 Question Id : 89951413835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:

Language Language code
a English i eng

b Hindi ii  kan

¢ Kanada il asm

d Assamese iv.  hin

[1]la—i;b—1i;c—iii;d - iv
[2la—i;b—iv;c—ii;d-iil

[3]la—-iii;b—i;c—iv.d-ii
[4]la—ii:b—1ic—iv:d—ii1

Options :

89951453903. 1
89951453904. 2
89951453905. 3
89951453906. 4

Question Number : 83 Question Id : 89951413836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is noansi option in pick-list?
[1] consider the text produced by the format as a DOS text and performs the
conversion.

[2] consider the text produced by the format as an ASCII text and performs the
conversion.

[3] consider the text produced by the format as a Unicode text and performs the
conversion.

[4] consider the text produced by the format as a Unix textand performs the
conversion.

Options :

89951453907. 1
89951453908. 2
89951453909. 3
89951453910. 4

Question Number : 84 Question Id : 89951413837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

Worksheet validation Related to:

a Defaultvalue i  Coded value management

b Help ii  Data entry erroneous

¢ WValidation iii  Help in managing sub-field data
d Pick-list definition iv  Automatic data values

[1].a—iii;b—di;c—1i;d-iv
[2].a—iii;b—i;c—iv;d-1i
[3]la—i;b—1i;c—iv;d-1il

[4l.a—iv;b—iii;c—ii;d -1

Options :

89951453911. 1
89951453912. 2
89951453913.3
89951453914. 4

Question Number : 85 Question Id : 89951413838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



How many field types are supported in WINISIS?
[11 5

[2] 4

[3] 3

[4] 10
Options :
89951453915. 1
89951453916. 2

89951453917. 3
89951453918. 4

Question Number : 86 Question Id : 89951413839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In Pattern declaration 9 indicates that:

[1]. The position must contain a numeric character

[2] The position must contain an alphanumeric character
[3]. The position must contain an alphabet
]

[4] The position must contain 9 Byte long data in alphanumeric character

Options :

89951453919. 1
89951453920. 2
89951453921. 3
89951453922. 4

Question Number : 87 Question Id : 89951413840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

a Default field value i FDT
b Pattern 11 FST
¢ Data export iii  Subfield
d ~symbol iv  ISO-2709

[1]la—1i;b—1i;c—iii;d - iv
[2la—ii;b—iii;e—iv;d -1

[3]la—iii;b—i;c—iv;d-ii
[4]la—ii;b—1c—iv;d—iii

Options :

89951453923. 1
89951453924. 2
89951453925.3
89951453926. 4

Question Number : 88 Question Id : 89951413841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following entry is correct for the pattern declaration 99-999/AA?
[1].88-67-9/CC

[2].8-679/CC
[3].88-679/CC
[4].8-679/55

Options :

89951453927. 1
89951453928. 2
89951453929. 3
89951453930. 4

Question Number : 89 Question Id : 89951413842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

Syspar.par Related to:

a Parameter 5 i  Data

b Parameter 3 ii  Message
¢ Parameter 1 iii  Menu

d Parameter 2 iv  Program

[1]a—iii;b—1i;c—i;d-iv
[2].a—iii;b—1i;c—iv;d-ii

[3]la—1i;b—1i;c—iv;d-iil

[4]la—iv:b—iii;c—1i;d -1

Options :

89951453931. 1
89951453932. 2
89951453933. 3
89951453934. 4

Question Number : 90 Question Id : 89951413843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one is the parameter in syspar.par for Redirection?

[1].Parameter 102
[2] Parameter 104
[3] Parameter 14

[4]. Parameter 0

Options :

89951453935. 1
89951453936. 2
89951453937. 3
89951453938. 4

Question Number : 91 Question Id : 89951413844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements related to steps in WINISIS is true?
[1].FDT == FST >> PFT >> Worksheet

[2] FDT => Worksheet >> FST == PFT
[3].FDT => Worksheet > PFT >> FST
[4].FDT == PFT >> FST >> Worksheet
Options :
89951453939. 1

89951453940. 2
89951453941. 3



89951453942. 4

Question Number : 92 Question Id : 89951413845 Question Type
Correct Marks : 1 Wrong Marks : 0

Match the following:

New parameters

a Parameter 102

b Parameter 103
¢ Parameter 104

d Parameter 101

Related to:

1
ii
11l

iv

Default menu

Display search details
Display dictionary options

Default language

[l1]la—1i;b—1i;c—iii;d - iv

[2l.a—ii;b—iii;c—iv;d -1

[3]la—1i;:b—1i;c—iv;d-ii

[4]a—iv:b—iii;c—1i;d—1

Options :

89951453943. 1
89951453944. 2
89951453945. 3
89951453946. 4

: MCQ Option Shuffling : No Is Question Mandatory : No

Question Number : 93 Question Id : 89951413846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is the maximum number of records in a database in WINISIS?

[1].16 millions
[2].16 lakhs
[3].16 thousands

[4].16 crores

Options :

89951453947. 1
89951453948. 2
89951453949. 3
89951453950. 4

Question Number : 94 Question Id : 89951413847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

a Field 015 1 Physical medium
b Field 050 ii  Agency code

¢ Field 040 iii Language code

d Field 020 iv  Bibliographic level

[1]la—ii;b—1i;c—1:d-1iv

[2].a—iii;b—1;e—iv;d-ii
[3]la—ivib—1c—1ii;d-ii
[4].a b—iii;c—ii;d-i

Options :

89951453951. 1
89951453952.2
89951453953. 3
89951453954. 4

Question Number : 95 Question Id : 89951413848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one is the Field for Physical Description in CCF?
[1].Field 400
[2] Field 460
[3].Field 480
[4] Field 400

Options :

89951453955. 1
89951453956. 2
89951453957. 3
89951453958. 4

Question Number : 96 Question Id : 89951413849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true?
[1] Winisis has inbuilt support for CCF/B
[2]. Both CCF/B and CCF/F can be used for bibliographic resources
[3] Both CCF/B and CCF/F can be implemented in Winisis
[4] Both CCF/B and CCF/F can be used for describing factual resources
Options :
89951453959. 1
89951453960. 2

89951453961. 3
89951453962. 4

Question Number : 97 Question Id : 89951413850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

Codes in CCF/B Types of materials

a 100 i Textual

b 105 ii  Report

c 110 iii  Thesis, Dissertation
d {15 iv.  Meeting document

[1]la—i;b—ii;c—iii;d—iv
[2]la—ii;b—dii;e—ivid -1

[3la—1i;b—1;ec—iv;d—ii

[4]la—iv:b—iii;c—1i;d—1

Options :

89951453963. 1
89951453964. 2
89951453965. 3
89951453966. 4

Question Number : 98 Question Id : 89951413851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A document in Hindi should be encoded in 040 tag of CCF as:

[1].@Ahin
[2]. @Ahin@Bja
[3] @Ahin@Bza

[4]. @Aben@Bja

Options :

89951453967. 1
89951453968. 2
89951453969. 3
89951453970. 4

Question Number : 99 Question Id : 89951413852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the correct data entry to encode 022 field in CCF/B?
[1].10@A20140222

[2].

Options :

89951453971. 1
89951453972. 2
89951453973. 3
89951453974. 4

Question Number : 100 Question Id : 89951413853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the following:

a 010

b 020

¢ 030

d 040

Options :

i  Magnetic
ii  Braille
i Film

iv  Paper

[1]la—i;b—ii;c—iii;d- iv
[2]la—1;b—1ii;c—1i;d-1

[3]la—-i:b—ic—1i;d-iv

[4]la—iv:b—iii;c—ii;d -1

89951453975. 1
89951453976. 2
89951453977. 3
89951453978. 4



